CHAPTER 7

DECIMAL
Question 1.
Write the following as numbers in the given table.
(a)

| B &g
Tens Ones Tenths

(b) T

57 &7
I | T
Hundreds Tens Tenths

Hundreds | Tens | Ones Tenths?g
(100) (10) (1) [1]

10

Hundreds (100) Tens (10) Ones (1) Tenths (1/10)
0 3 1 2
1 1 0 4
Solution:

From the given data, we have

Question 2.

Write the following decimals in the place value table.
(a)19.4

(b) 0.3

(c)10.6

(d) 205

Solution:




Place value table is given as under:

Hundreds| Tens | Ones | Tenths
(100) (10) (1) [ 1 ]

10
(a) 0 1 9 4 |(19.4)
(b) 0 0 0 3 (0.3)
() 0 1 0 | 6 [(10.8)
(d) 2 0 5 | 9 (2059
Question 3.

Write each of the following as decimals:
(a) Seven-tenths

(b) Two tens and nine-tenths

(c) Fourteen point six

(d) One hundred and two ones

(e) Six hundred point eight

Solution:

(a) Seven-tenths =7 x 110 = 0.7

(b) Two tens and nine-tenths = 2 tens + 0 ones + 9 tenths = 20 + 910 = 20.9
(c) Fourteen point six = 14.6

(d) One hundred and two ones
=1x100+2x1=100+2=102

(e) Six hundred point eight = 600.8

Question 4.
Write each of the following as decimals:
5 7
() ﬁ b)) 3+ iﬂ
{e) 200 + 60 + 5 b
c +60+5+ 10
8 88 2
(dJT{}+E {e}ﬁ (ﬂﬁ
3 2 12
g 2 (h) 5 (i) 5

3 1
S f 4=
(/) = (k) >



5]
—=0.5
(a) 10
7
3+—=3+0.7=3.7
(b) 0
1
() EGD+ED+5+E_EEE+E:QED1
8
d} T0+—=70+0.8=T0.8
(d) 10
88
(E]E:ES
2
— = (.2
( 10
3 3x5 15
@ 2" 2xE" 10"
2 2x2 4
1 = —_— = 4
{x 5 bBx2 10 ¢
m_ 12x2 _24 _,
5x2 10
3 3 3x2 6
N 8==3+—-=8+—=3+—= B=43.
) e =oty T T it
1 1 1x56 5
d=—=d+—-—=4 + —=4+—
(k) 2 2 2x5 10
=4+05=45
Question 5.
Write the following decimal as fractions. Reduce the fractions to lowest form.
(@) 0.6
(b) 2.5
(¢)1.0
(d) 3.8
(e)13.7
(f)21.2

(g) 6.4



Solution:
6 6

(@) 06=0+ ﬁzﬁ

6 6+2 3

Lowest form of - 10+8 =

5 2x10+5
b)2.5 = 2+UD—2+E T

_20+5_325
10 10

25 _25+5_5
Lowest form of — = ==
OWwWest Torm o 1':' ]_D 9

0
©)1.0= 1+Em1

Lowest form 1s also 1.
8 _3x10+8
8=3+08=3+ e
(d) 3. + 0" 10

3'D+8 38
10 10
38 38+2 19

Lowest form of ﬁ 105" 5

T 13x10+7
(e)13.7=13+0.7=13 + T T T

130+7 _ 137
10 10

137 and 10 are co-prime. So lowest form is

137

lso= —
also 10

2 21x10+2

9192=91+02=214 —=
" ¥ R 10

21{}+2 212

10 10
212 212+2 1{}6

Lowest form of E TR

4 6x10+4
g)64=6+04=6+ E_T

E{}+4 64
10 10
64 64+2 32

L fi f—=
owest form o ST 5

Question 6.
Express the following as cm using decimals.



(a) 2 mm

(b) 30 mm

(c) 116 mm

(d)4cm2mm

(e) 162 mm

(f) 83 mm

Solution:

We know that 10 mm =1 cm.

2
(¢) 2 mm = E cm = 0.2 cm

i) 30 mm = %r:m =3cm

116 i}
- A P i e =11
(e) 116 mm T cm{ m]cm llﬁ_cm
dldemZ2mm=4cm+ 2 mm

2
= =g
[ m]cm 4.2 cm
(e) 162 mm = _llﬁﬂi cm = [lﬁ+—120J cm = 16.2 em

83 -
(f) 83 mm = Ecm_[ﬂw ﬁJ cm =83 cm

Question 7.
Between which two whole numbers on the number line are the given numbers lie?

Which of these whole numbers is nearer the number?
D e B —t

01234667889 101112
(@) 0.8
(b) 5.1
(c)2.6
(d) 6.4
(e) 9.1
(f) 4.9
Solution:
(a) 0.8 lies between the whole numbers 0 and 1.
(a) 5.1 lies between the whole numbers 5 and 6.
(b) 2.6 lies between the whole numbers 2 and 3.
(c) 6.4 lies between the whole numbers 6 and 7.
(d) 9.1 lies between the whole numbers 9 and 10.
(e) 4.9 lies between the whole numbers 4 and 5.

Question 8.

Show the following numbers on the number line.
(@) 0.2

(b) 1.9

() 1.1



(d) 2.5
Solution:
(@) 0.2

[

0132345678910

- b

0.

Point A represents 0.2,
(b) 1.9
LB

0 I

9

-

.
o

=

Point B represents 1.9.

) 1.1
C

0 1 2
1.1
Point C represents 1.1.

(d) 2.5

$o

Y

0 1 2 v 3
B

Point D represents 2.5.

2

Question 9.
Write the decimal number represented by the points A, B, C, D on the given number

line.

0 Al B aC D3

Solution:

Point A represents 0.8
Point B represents 1.3
Point C represents 2.2
Point D represents 2.9

Question 10.
(a) The length of Ramesh'’s notebook is 9 cm 5mm. What will be its length in cm?
(6) The length of a young gram plant is 65 mm. Express its length in cm.

Solution:
(a) Length of the notebook =9 cm 5 mm

-

5 51
= o i
‘?rc1n+1ﬂ cm [ +1D] cm

={9+0.5)em =9.5cm



(b) Length of the young gram plant = 65 mm

65 B
n — — 6 Nmm— - _F
10 cm [ +1{}] cm = 6.5 ¢cm

Question 11.

Write the following terms in decimals numbers.

Five hundred plus three tens plus eight ones plus four tenths
Solution:

5 Hundred plus 3 Tens plus 8 Ones plus 4 Tenths is equal to:

=(5x100)+(3x10)+(8x 1)+ (4x110)
this results in

=500+30+8+410
=538+410=538.4

Question 12.
Write the following in decimal.

A
o %
Solution
1. 3=3%x25/4x25=75/100=0.75

2. %=2x2/5%x2=4/10=0.4
Question 13.
Write the following terms as decimals numbers.
(a) Three tens plus eight-tenths
(b) Fifteen point seven decimal number
Solution
(a) Three tens plus eight-tenths =3 x 10+ 8 x 10 =30+ 0.8 = 30.8

(b) Fifteen point seven = 15.7

Question 14.
Write the following as decimals.

e 200+50+6+2/10



o 150+30+8/10

Solution

(@) 200 +50 + 6 +2/10 =256 + 0.2 = 256.2
(b) 150+ 30 +8/10 =180 + 0.8 = 180.8
Question 15.

Write the following decimals as fractions. Reduce the fraction to the lowest form.
(a) 0.6

(b) 2.5

(¢)1.0

(d) 3.8

(e) 13.7

() 21.2

(9) 6.4

Solution

(a)0.6=6/10

=3/5

(b) 2.5=25/10

=5/2

(c)1.0=1

=1

(d)3.8=38/10

=19/5

(e)13.7=137/10

(f)21.2=212/10

=106/5



(g) 6.4=64/10

=32/5

Question 16.

Express the following as cm using decimals.
(@) 2 millimetre

(b) 30 millimetre

(c) 116 millimetre

(d) 4 cm 2 millimetre

(e) 162 millimetre

(f) 83 millimetre

Solution

As we know,

1 cm = 10 millimetre

1 millimetre=1/10cm

(@) 2 millimetre =2 /10 cm
=0.2cm

(b) 30 millimetre =30/ 10 cm
=3.0cm

(c) 116 millimetre =116 /10 cm
=11.6 cm

(d) 4 cm 2 millimetre = [(4 + 2/ 10)] cm
=4.2cm

(e) 162 millimeter =162 /10 cm
=16.2cm

(f)83 mm=83/10cm

=8.3cm



Question 17.

Between which of the two whole numbers present on the number line do the given
numbers lie?

Also, which of these whole numbers is nearer to the actual number?
(@) 0.8

(b) 5.1

(c) 2.6

(d) 6.4

(e) 9.1

(4.9

Solution

(a) 0.8 lies between 0 and 1

0.8 is nearerto 1

(b) 5.1 lies between 5 and 6

5.1 is nearerto 5

(c) 2.6 lies between 2 and 3

2.6 is nearerto 3

(d) 6.4 lies between 6 and 7

6.4 is nearerto 6

(e) 9.1 lies between 9 and 10

9.1 isnearerto 9

(f) 4.9 lies between 4 and 5

4.9 is nearerto 5

Question 18.

Describe the following numbers on their respective number line.
(a) 0.2 (decimal)

(b) 1.9 (decimal)



(c) 1.1 (decimal)

(d) 2.5 (decimal)

Solution.

(a) The number 0.2 lies between the points 0 and 1 on the number line. Also, the space
between the numbers 0 and 1 is divided into ten equal parts. And each equal part will
be equal to one-tenth of the respective. Hence 0.2 is the second point between 0 and
1.

(b) The number 1.9 lies between 1 and 2 on the number line. Also, the space between
points 1 and 2 is divided into ten equal parts. And each equal part will be equal to one-
tenth. Hence 1.9 is the ninth point between 1 and 2.

(c) The number 1.1 lies between the 1 and 2 on the number line. Also, the space
between points 1 and 2 is divided into ten equal parts. And each equal part will be
equal to one-tenth. Hence 1.1 is the first point between 1 and 2.

(d) The number 2.5 lies between the 2 and 3 on the number line. Also, the space
between points 2 and 3 is divided into ten equal parts. And each equal part will be
equal to one-tenth. Hence 2.5 is the fifth point between 2 and 3.

Question 19

Write each of the following as decimals.

(@Q)20+9+4/10+1/100

(b) 137 +5/100

(c)7/10+6/100+4 /1000

(d)23+2/10+6/1000

(e)700+20+5+9/100

Solution

(@)20+9+4/10+1/100

=29+0.4+0.01

=29.41

(b) 137+ 5/100

=137 +0.05

=137.05



(¢)7/10+6/100+4 /1000
=0.7+0.06 + 0.004

=0.764

(d)23+2/10+6/1000
=23+0.2+0.006

=23.206

() 700+20+5+9/100

=725+0.09

=725.09

Question 20.

Write each and every one of the following decimals in words.
(a) 0.03

(b) 1.20

(c) 108.56

(d) 10. 07

(e) 0.032

(f) 5.008

Solution.

The following are the decimals in words.
(a) 0.03 = zero point zero three

(b) 1.20 = one point two zero

(c) 108.56 = one hundred eight point five six
d) 10.07 = ten point zero seven

(e) 0.032 = zero point zero three two

(f) 5.008 = five point zero zero eight






